
Warm up

Find (x, y ) that satisfies

X - 4=5

and 2×+4=1

Systems of Equations

Suppose you have multiple equations .

X - 4=5

2×44=1

IS there an X and a y that satisfies both ?

2 ways to solve this :

Substitution Elimination (Addition)

Isolate a variable Add equations
& substitute into together to cancel
the other equation a variable

X = Yts X -14=52(Yts) -14=12×1-4=13×+10-14=1 3×+0=6

34=-9 x = 2

Y =-3

Plug into either

Plug into either equation

equation
(2) - 4=5

X - C - 3) =S
- y =3

x -13=5

X = 2
Y =-3

(2
,-3) is

a solution



EL (Recommend to use elimination)

4×+34=11
-5×+24=15 off by a

¢ negative

Elimination : Need coefficients to (almost) match

5. (4×+34) = SCH) Plug it
back in 4×+3 (5) = It

4 (-5×+24)=4 ( 15) 4 X t IS = It

'

Ii ::o) "''EI
23-1=115 (-1,5) is a solution

y = 5

2- Variable word Problems

what 2 things is it asking
for? Let those be X & Y .

2 types of tickets : X = pavilion seats

y = lawn seats

X t y = 1500 # of tickets

25 X t 154=28,500 moneyNaive
of sold tickets

-15 (Xt Y) = - 15C 1500) (600)t 4=1500

I's:#'Ei:3:o) x=aoo

10X to = 6,000
X = 600

600 covered Pavilion seat tickets sold

900 lawn seat tickets sold



Assuming headwind & tailwind

are the same wind
.

2 things it's asking for? X = Speed of airplane

3×+34=3000
Y = Speed of wind

4×-44 = 3000

× + y = 1000
X ty = 1000

×
- y = 750 x - y = 750 → X=7Soty

2X = 1750 Sub : (750+4)+4=1000

X = 875 750+24=1000

Sub : (87-5)-4=750 24=250

y = 125
875-750=4

125 =y
Sub : X - (1257=750

X = 875

2 things its asking for?

X = Servings of tomato soup

Y = Slices of whole wheat bread

100×-170-1=230 10×+74=23

18 X t 13 y = 42
} 18×+134=42
Simplify

18 (10×-174)=1123)
a bit 10x -174=23 → 10X = 23-74

X = 23-7-Y
- 10118×+1347=-10412) To

180×+1264=414 sub : 18 (23-0747)+134=42
- 18/0×-1304=-420

xlo : 18123 -7y) +1304=420

- 44=-6 414 - 1264+1304=420
44=420 - 414y=¥=Z
44=6

y =L,=L
⇒ 10×+7-(3-2)=23

Sub:10×+7-(3-2)=23×2
: 20×1-7133=46 :

204=46 -21=25
'

×=E
X=2Io=¥ 4


